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int data;
struct 1istnode *next;

} ;
typedef struct 1istnode ListNode;
typedef ListNode *LNP;
void insert_before(LNP head, int data, LNP target);
int is_sequence (LNP head); II 2 3 4 => 1, 2 3 5 => 0
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int i, data;
LNP head, tail, tmp;

head = tail = (LNP)malloc(sizeof(ListNode));
head->data 0;
head->next = NULL;

for(i = 0; i < 4; i++) {
tmp = (LNP)malloc(sizeof(ListNode));
tmp->data = tail->data + 2;
tmp->next = NULL;
tail->next = tmp;
tail = tmp;
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BST insert_node(BST t, int value) {
if (t == NULL) {

t = malloc(sizeof(BSTNODE));
t->data = value;
t->leftptr = NULL;
t->rightptr = NULL;

else if (value < t->data)
t->leftptr = insert_node(t->leftptr, value);

else if (value> t->data)
t->rightptr = insert_node(t->rightptr, value);

else
printf ("duplicate node\n");

return t;
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struct node {
int vertex;
struct node *link;
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#include<stdio.h>
struct listnode{

int data;
struct listnode *next;

} ;

typedef struct listnode LN;
typedef LN *LNP;

Enter: <921+->
= 6

int main() {
LNP stack = NULL;
char s[128];
char *cptr;
printf("Enter: "};
gets(s);
tmp = s;
whi1e(*cptr!= '\0') {

if(*cptr>= '0' && *cptr<= '9') {
push (&stack, *cptr - '0');

else if(*cptr == '+' II *cptr == '-' II *cptr
if(cal(&stack, *cptr) == -1) {

printf ("Too many operators. \n") ;
break;

}

result(&stack); //show the result


